1. Il locus in phage T, is one of the 4, Consider the following components
loei affecting used in electron transport system
that act in a sequential manner :

fa} rapid lysis of K-bacterium 1. NAD
2. Cytochrome C
fb} Tapid lysis of B-bacterium ' 3. Cytochrome Ay
4. FAD

{c/ protein coat synthesis What is the correct sequenee of the

above?
fd) attachment of phage to the
bacterium fa} 1-4-3-3
b 3—4-2-1
2, Which one of the following fe) | A—254.3
statements is not correct?
() 2-1-3-4

fa} All sponges are exclusively
marine 5, Which omne of the following cell
organelles oxidizes very long fatty

) ) acid chains?
fe) Amphiblastula is a landform of

certain sponges faj Peroxisome

i1 Hucl
fef Calcareous and = /siliceous fb) HNucleosome

spicules are Jfound 1 many fc)
SPONEEs

Dhictyosome

fd} CGolgi apparatus
fd} All spongesiare sessile

6. Which one of the ollowing enzymes
is invelved in the regulation af cell

)
3. Chramopexy is a kind of cycle:
{} Cyclin-dependent protein
fe) phapocytosis kinase

(b} Cyclic-AMP-dependent phos-

{b} cell vomiting phodiesterase

. - {c/ DNA-dependent RNA polym-
{c) pinocytosis erase
{d] exocytosis fd) DNA pglycosylase
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. A molecular alteration in

chromosome that generally
accompanies chromosome conden-
sation during mitesis is

fa} phosphorylation of cde 2
protein

(] phosphorylation of cyclinB
protein

{c} phosphorylation of histone H1

fd} tangling of sister chromatids

8. Which one of the [following

combinations of hiastone molecules
cambines with the DNA to lorm the
nucleosome core?

{o) H1, H2A, H3, H4
b} HE, H2B, H3, H4
{e} H1, H3, H4, H5

id) (H2A, H2BY(HI) HY

9. Which specific céll substance when

treated withva warm acid and upon
adding “Schiffs reagent takes
reddish purple stain?

{a) " Amino acid
(bl Protein
fc) DNA

fd} Lipid
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10. In the case of sickle-cell anaermia,

consider the following statements :

1. f-chain of Hb® is not different
fram Hb* hemoglobin.

Patients are sensitive o
malaria caused by
P. faleiparum.

Which of the &tatements given
above is/are corgect?

fat 1 _only
{Bp 2 only
fef*"Both 1 and 2

fdf MNeither 1 nor 2

11. A normal human female has two

X-chromosomes in her genome, one
of which gets heterochramatinzed
during early development and
becomes inactive, Such inactivated
X-chromosome is the one which
has been contributed

{a} exclusively by her mother
fb) exclusively by her father

fct by any of the parents, and
inactivation is a matter of
chance

with more number of lethal,
sub-lethal and detrimental
genes on it
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12. The number of chromatin positive

hodies in

individuals with

teirasomic Xlinefelter's syndrome is

(a)
fb)
fe)
{d

13. The

ane
two

three

four

gene required for male

sex-determination in humans is

fa}
{bi
fe)
fd}

DAX 1

ZFX

SXr

SRY

14. With reference to plasmagenes)
consider the following statements :

1.

Flasmagenes are present
inside the chrowmosorie.

They are capable of  self-
replication.

They are transmitted by means
of cytoplasm.

They are not capable of
mutation.

Which of' the statements given
above are correct?

(a)
(b}
(e}
fd}

1 and 3 only
2 and 4 only
2 and 3 only

1,2, 3and 4
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15. The tertiary structure of tRNA takes
the shape of

{a)
f&)
{c]

fdj

clover-leaf

inverted J’

inverted ‘T

inverted ‘L’

16. In case of I[ac( operon, when
disaccharide enters the cell

(o)

(b}

fe}

{d}

it/ binds to the bound-
représsor-to-the-operator and
the structural pgenes are
transcribed because the RNA
polymerase can  recognize
and bind the transeription
initiation site

it binds to the repressor and
the structural genes are
transcribed because the
repressor  has  an altered
conformation; is inactivated
and does not hind the operator

the membrane protein
interacts with the operator and
the ERENA polymerase can
recognize the transcription
initiation site

the membrane protein has an
altered conformation and does
net interact with the aperator,
thus leading to the tran-
scption of the structural
genes
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17. Which one of the following vitamins

is essential for the synthesis
of DMA?P

{a) Folic acid
fh} Biotin
{e} Tocopheral

fd) Pyridoxine

18, Which one of the foliowing human
genes has the longest stretch of
DNA [~24 Mbj?

fa) Globin gene
fb} Histone gene
fc} Dystraphin gene

fd] tRNA gene

19. DNA microarrays or ‘gene chips’
were developed ing the 1990s to
determine the

blunt-ended DNA

fa] joining
frapment

{b) transcriptional status of
thousands of genes in a single
EXperiment

fe} different pieces of the genomic
DNA

fd} homologous gene expression

P-DTO-J-APFf3A

20. Which one of the following iz the
Henderson-Hasselbalch equation?

— ok, —log 1L
fa) pH = pHq ~log T

- 1A
(b} pH =pE, +log
a [HAT|

fc) pH = pKy +log [ﬁ-——

(@) pH = pK, +log BAI

21. Which one of the following parasitic
nematodes doez noed require an
intermediate host to complete its
life cycle?

fa} Brugia malayt
fh)  Ancylostorna ducdenale

fc}  Wuchereria banerofti

{d} Dracunculus medinensis
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42. Which one of the following is the
cotrect sequence of larval stages in
the development of Fasciola®?

{a}

Miracidium, Redia, Sporocyst,
Metacercaria, Cercaria

(b} Cercaria, Miracidium, Sporo-
cyst, Metacercaria, Redia

{c} Miracidium, Sporocyst, Redia,
Cercaria, Metacercaria

e}

Redia, Cercaria, Metacercaria,
Sporoeyst, Miracidium

23. With reference to Hemipterous
mouthparts, which one of the
following statements is correct?

{a} The labrum, mandibles,
maxillae  and hypopharynx
form six long pointed stylets

{8} The labram is
ventrally

ETooved

f¢} The wmandibles and miaxillae
form four long needle-like
piercing stylets

fel}

The labiumforms a long
dorsally grooved! proboscis
tipped with a pair of sensory
labellar lobes

24. The glands, found on the edges of
eyelids and help to keep the cornea
surface fmoist are called

fd) Cemuminous glands
B} Zeis glands
fe}  Sudorific glands

e}

Meibomian glands

P-DTQ-J-APP/3A
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25. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :

List-t Ligtr
{Orgarnism) {Metarmarphosis}
A. Spring tail 1. Holometabolisrn
B. Stoneflies 2. Hemimetabolism
C. Termite 3. Ametabalism
D. Honeybee 4w Heterometabolism
Code :
fal A B C D
4 3 2 1

) A° B € D
3 4 1 3

fef A B C D

@ A B C

L

26. Which one of the following animal
groups belongs to same class?

{a} Pheretimg, Lumbricus,
Hirudinana

fb] Spider, Louse, Millipede
{e) Cuttlefish, Devilfish, Squids

fdj Silverfish, Crayfish, Razor fish
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27. Match List-§ with List-1l and select
the correct answer using the code
given below the Lists :

List] Liste-IT
A, Btruthioniformes 1. Uraefyphlus
B. Movotremata 2. Ostrich
C. Casuariiformes 3. Latimeria
. Crossoupterygii 4. Tachyglossus
E. Gymnophiona 3. Emu
Code
fal A B C D E
5 4 2 3 1

m A B ¢ D E
i A B ¢ Dp/fE
5

idj A B % D E
5 2

28. Which ong of the following fishes is
not & dipnoan®

ia), Protopterus sp
fb} Neveeratodus sp
fe}  MNotopterus sp

{d} Lepidosiren sp

P-DTQ-J-APPf3A
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29. Consider the following :

1.

2.
3.
4.

Diarrhoes
Dementia
LCermatitis

Delinguency

Fellagra is characterized byywhich
of the above?

fa}
b}
fe/
fd}

1, 2 and 4
i, 2 and 3
I3 and 3

1.3 and 4

30. Consider the following statements :

1.

Pisces and Amphibia can be
differentiated on the basis of
differences in skin.

Elasmobranchii and Telenstomi
can be: differentiated on the
hasis of endoskeleton.

wcofiodon and Terpeds can be
differentiated on the basis of
electnic organs.

Salamander can be differ-
entiated from Bufo on the besis
of parotid gland.

Which of the statements given
above are correct?

faj
(b}
fc}
)

1 and 2 only
2, 3 and 4 only
1, 3 and 4 only

1,2, 3 and 4
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31. A caudal fin which is asymnetrical
internally and syminetrical
superiicially (outwardly), and the
vertebral column is shortened and
slightly bent upward at the end is
known as

fa) Protocercal
fb) Diphycereal
{e) Heterocercal

{d] Homocercal

32, In schizognathous palate in 'birds,
the vomer is

fa) large and broad behind

{b} either absent or small gnd
pointed in front

fc} broad and truncate indroné

fdl} large and perforated

33, Which one ol the following features is
not cofréct \in the case of New
WorlduMonkeys?

fa), Cheek pouches ere absent
(b} Pollex is opposable
fc} lachial callosities are lacking

No baony external auditory
meatus

P-DTQ-I-APP/3A

34. Match List-1 with List-II and select
the correct answer using the code
given below the Lists -

Listrf List-Hf
{Organism) [Structure}
A, Sagitta Nephridial tubes

B. Phoronis Long refractile

proboscis

C. Lineus Jaws as sickle-shaped

chitingid hanks

0. Linguin Bivalve shell

Code 4

faj jA
3

(B} A
1

ic/

38. Sagifto is an example of a marine,
planklonic, predaceous animal and
it belengs to the phylum called

fa) DBryozoa
{bj Phoronida
{cj Chaetognatha

fd} Brachiopoda
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36. BShivering in malaria ocours when

fe) schizonts enter RBC

&} signet ring is formed

fef merozoites enter RBC

{d) merozoites

from RBC

are liberated

37. Match List-I with Ligt-1I and select
the correct answer using the code
gmiven below the Lists -

List-1
{Larua)
A Glochidium
B. Bipinnara
C. Tornaria
D. Amphiblastula
E. Trochophore
; Code
|
fal A B
4 2
i, A B
& 1
fo} A B
3 1
fd A B
2 2

P-DTO-J-APFf3A
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Neanthes
Unid

Syeon
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"38. Match List-I with List—1I and select
the correct answer using the code
given below the Lists :

Ligt-1 Lizt-ff
A. Biradiata 1. Sipunculida
B. Acoelomata 2. Echinodermata
C_ Pssudocoelomata 3, Rhyfichecoela
D. Schizocoelous 4. Entoprocta
coelomata
E. Enterocoelous 5. CGtenophora
coelomata
Code ;
fald & B C D B
3 5 4 2 1
A B © D E
5 3 4 2 ]
g A B C D g
3 ) 2 1 4
{d) A B C D E
L) 3 | 2 4

39, Which one of the following larvae

of Fasciola possesses cystogenous
gland cells?

fa) Miracidium
(b} Sporocyst
fo)  Cercaria

) Redia

40. Which one of the following structures
15 absent in Taenia solium?

fa) Mehlis' gland
f&/ Rostellum
fc} Laurer’s canal

fdj Cirras sac
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. In Hirudinaria

temporary clitellum is formed by
the segments

{aj V-VIII
(b} XI-XXV
fe} IX-XI
{d) M-V

42. The Indian cattle leech, Mirudinaria

granuloso possesses

(@) 5 pairs of eyes and 11 pairs of
testia sacs

(b} 2 pairs of eyes and 2 pairs of
testiz sacs

fc} 1 pair of eves and 11 pairs of
testis sacs

fd} 5 pairs of eyes and 1 pair of
testis sacs

43. Kidney in Pilz communicates,with

fa}) pericardium and mantle cavity

b} visceral aorta and Pulmonary
s8¢ !

fei  visceral aorta’ and mentle

cavity

{¢} _fnantie cavity only

44. Which ene of the following types of

aleull is found in Columba?
fa] Dromeoghathous
b Desmognathous
{ef Aegithognathous

fd} Schizogmathous

P-DTQ-J-APP/3A
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45. The

presence of foramina
transversatia for the passage of
artery and vein is a characteristic
feature of

fa} cervical vertebrae of rabbit
fb} thoracic vertebrae ofwabbit
{c} cervical vertebrae of\frog

{d] thoracic verteBrae of frog

48, The inter stirface of the intestine in

some fishes becomes folded to form
an anticlockwige spiral called scrall
valve. This valve is present in

{a) Tenulosa ilisha
(b} Ctenopharyngodon idella
{¢} Scoliodon sorrakovah

(d} Heteropreustes fossilis

47. Which one of the following air =acs in

Columba is not paired?
fa) Cervical

fb) Thoracic

fc}  Intetrclavicular

fd} Abdominal

48. Trachea i{s supported by complete

bony rings and complete
cartilaginous rings respectively in

fa} Columba and Colotes
2] Rang and Columba
{¢) Calotes and Oryetolagus

{d} Chyctolagus and Rana
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49. In Cualotes, the apex of the ventricle is 83, The hormone somatostatin  is
connected with the pericardium by secreted from
a thin and white tissue called

faj medium eminence
{a} Wusculi pectinag

{4 zona glomertulosa
(b} Chordae tendineae

e/ deita cells in pancreas
e} Gubernacular cordis

'(dj choroid plexus
{d} Columnae carnecae

54, With reference 4% coelenterates,

50. In thf‘.‘ hf‘.EIt Dfrﬂbbit, sinus VETIOE1S consider the fﬂllnwing features

is absent as it has merged with the
1. Polyp formis

wall of
2. Strongly, developed  stomo-
{a) right auricle dagum and POSSESSIng
siphanoglyphs
fb}  left auricle y 5P
3.7 Wellddeveloped mescglea
{c} conus arteriosus gontaining fibrous connective

tissue and amaoeboid cells
fe) right ventricle

Which one of the following pairs of
21. Systemic arches in frog are derived ;:‘ﬂetlent&;ates represents the above
from which asrtic arches? eatures

{a) Fourth pair ' fa] Obelic and Aurelic
{8} Third pair {B)  Physalia and Vellela
{¢j Fifth pair fc) Polyorchis and Porpitn
{d} Sixth pair (dl  Zovanthus and Alcyonium
52. Myxoedema 1§ a disease caused by S5. Among the following foods, which is
the most appropriate for a desert
(@} hypersecretion of thyroxine mammal for the regulation of its

hormene in children water balancep

fb) \hypersecretion of thyroxine (a)

Carbohydrate-rich cereals
Hormaone in adults

fb) Qil-rich seeds
¢} hyposecretion of thyroxine

hormone in children fc} Protein-rich pulses
fd] hyposecretion of thyroxine ff} Both carbohydrate- and
hormane in adults protein-rich foods
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56. Consider the following pairs :

Membrane Functions
proteins
1. Bedinm channel Helps in entry
of Sodium into
the eclt
2. Potassium Helps in entry
channel of Potassium
into the cell
3. SBodium- Helps in exit of
Fotassium Sodium and
ATPase entry of

Potassium into
the cell

Which of the pairs given above
is{are correctly matched?

e}
i}
ic}
fd)

2 and 3
1 and 2
3 only

1 and 3

57, Which one of the féllowing is carrect
in ion exchange™during impulse
conduction?

{a)
(o)

fc/

fd}

Sodium pump stops working

3Ne” are pumped in and K*
pumped gut

3Na™ are pumped out for
every 2K* pumped in

1Na* replaces 1K+

P-DTQ-~J-APP/3A
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58. During transmission of nerve
Impulse, the membrane potential
inside the cell is

fe}] first negative, then positive and
back negative

fb} first negative, then positive and
remaing positive

{e)  first positive, then hegative and
remains negative

fd} first positiveptheninegative and
back positive

99, During phgsphogluconate pathway
(HMP shuut), the mansosaccharides
formed along™with CO,, are

faj hexoses
f&r] “irioses
fc} | tetroses
{d] pentoses

00/ What is the difference between
substrate level phospharvlation and
oxidative phosphorylation?

@l Energy released by flow
electrons is utilized in oxidative
phoaspharylation for the
synthesis of ATP but not in
substrate level phosphoryla-
tion

(&) ATPs are produced by oxidative

' phosphorylation but not by
substrate level phosphoryla-
tion

fc} Substrate level phoesphoryla-
tion occurs only under non-
aerobic  condition but  not
oxidative phosphorylation

{d]  Oeadative phosphorylation
requires more energy for
aynthesis of ATP than
substrate level phosphoryia-
tion
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61. Consider the foliowing pairs ;

Polysaccharides Giycosidic
bhonds

1. Chitin [(1-4}

2. Cellulose firl-6

3. Glycogen a{1-4) and a(i-6)

Which of the pairs given above are
cofTect?

{a} ! and 2 only
fb) 2 and 3 only
fe) 1 and 3 only

fd} 1,2 and 3

62, Bomb};kul is afan

{a} hormnone
fb) parasite
fcj pheromone

fd) enzvme

63. Long-chain fativ adids penetrate the

inner gnitachondrial membrane as
derivatives of which one of the
Following?

fel “Carnitine

f6} Coenzyme A

fc)  Sialic acid

{d} Sphingosine

P-DTG-J-APP/3A

64. Consider the following statements :

Fibrinogen, the precursor of fibrin

l. consists of only primary
strichiare

2. resembles [fibrous proteins
structurally

3. behaves like globllar\proteins
in their seolubility in agueous
salt solutions

Which of the staternents given
above are cotrect?

{a} 1 and 2 oaly
ih) 2 and 3 only
fef 1 and 3 only

i) 1,2 and 3

65. Consider the following :

1. Succinate dehydrogenase
4. NADH dehydrogenase

3. Cytochrome oxidase

4. Cytochrome be; complex

What is the correct sequence of the
aboave in the electron transport
chain?

fa) 2-4-1-3
(b} 2-1-4-3
fe) 3-1-4-2

(d) 3-a4-1-2
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&67. Maltose is

66. Consider the following statements

regarding the inner membrane of
the mitcchondria ;

1. It keeps a high concentration
of H® in the intermembrane
space.

2. It helps to arrange the different
molecules of the electron
transport chain in the right
order.

300It has
phozpholipids.

Proteing and

Which of the statements given
above are correct?

fej 1 and 2 only
b} 2 and 3 only
foj 1 and 2 only

fedl 1,2 and 3

formed by which

glycusidic linkage?

foy Glucose o 1-4 ghicose
b} Galactose o ¥~ glucose
fc) Glucose B 14 galactose

{d) Gluclise B4 glucose

68. Wha,among the following proposed

the w-heliv structure of protems?
fez}  Crick and Watson

fbf Pauling and Corey

{c/ HNirenberg and Khorans

{d] Skoog and Miiler

P-DTQ-J-APF/3A
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TL. Which one of the

69, An azllosteric inhibitor of enzyme

action acts by combining with
fa} the eatalytic site of the enzyme

{b) the non-catalytic site of the
enEYme

fc)  the substrate

fd} both the substrate and jthe
non-catalytic site  of  the
ENZYIme

70, Which among the following are the

enzymes leading to substrate level
phosphorylation during glycolysis?

fa} Pyruvate kinase and enclase

{b) Byruvate kinase and phospho-
glycerokinaze

e} Tricse phosphate dehydroge-
nese and phosphoglycero-
kinase

fd} FPhosphoglycerokinase and
phosphafruectolkinase

following
staterments is not correct about
metamorphosis in frog?

faj The forelimbs, which develop
under cover of the opercular
membrane, break through te
the exterior

{bj The middle ear develops in
connection with the third

pharyngeal pouch
fct The eyes protrude on  the

dorsal surface of the head and
develop cyelids

feli The tongue iz developed from
the floor of the mouth
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72. Which of the following changes are

invalved in retrogressive meta-
morphosis in ascidians?

1. Increase in the number of
pharyngeal stigmata

Complete disappearance of tail

Disappearance of the endostyle
and other parra of {feeding
mechanism

4. Disappearance of the eye and
the otocyst

Select the correct answer using the
code given below :

Code ;

fal 2 and 4 eonly
fbt 1 and 3
feb 1, 2 and 4

(i 2,3 and 4

73. Consgider the following dewvelop-

mental stages of frog :
1. Neumnala

2. Blastula
3. Morula
4.  Gastrula

Which € of
blastopore?

the abowve lack a

fal 1 and 4
&l 2 and 3 anly
fc} 1,2 and 3

{d) 2,3 and 4
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74. Conaider the foliowing statements :

The upper layer of the area opaca in
the blastodermn of chick gives rise to

1. ectoderm
2. mesoderm

J.  extra-embryonic endoderm

Which of the statements
above is/are coirect?

gliven

fai 1 and 2 only
fb} 1 and 3 only
fg} 3 only

{df 1,2 dnd 3

75. Consider the following statements
on extra-embiyonic membranes in
chick :

1. Allanteis has inner layer of

endoderm and outer layer of
splanchnic mesoderm.

2. Yolk sac has an inner layer of
endodern and outer layer of
splanchnic mesoderm.

3. Allantois has inner layer of

splanchnic mesedenn and
outer layer of endoderm:,

4. Yolk sac has inner layer of
splanchnic mesoderm and
outer layer of endoderm.

Which of the statements given
gbove are correct?

fal 1 and 2
(b) 2 and 3
fel 3 and 4

(@) 1 and 4
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76. Consider the following statermnents : 78. What is common in the scientific
contributions of scientists, wviz,
Francesco REedi, Lazzaro Spallanzani
and Louis Pasteur?

1. By examining embryos and
foetal stages of a vertebrate
group, 1t 1s impessible (o
identify the group to which
they belong. '

2. Structural similarities exist in
embryonic and larval stages
which are not apparent in

fa)

Their studies have conclusively
proved that higher forms of
organisms have not ewolved
from viruses

adults. (B} They havel pt‘ﬂvldﬁd. EXperi-
) . mental evidences disproving
3. During the development, chick the theory (of Sporianecus
first resembles a fish, then an penerationgsf erganisims
amphibian and later a reptile, '

) , fc}  They hawe shgwn that viruses
Whl{:h1 of the statements given exhibit feati¥es of both living
above is/are correct? ofganisms and non-iiving
faj 1 and 2 only thifgs
{bi 1 only {d) They have shown that most
fo) 2 and 3 only hacteria are heterotrgphic in
fd) 1,2 and 3 their nutrition

77. Match List-] with List-Il and select 8. The main conuripution of Stephen

the correct answer using the code
given beiow the Lists :

List-{ List-I
{Type of placenta) {Example)
A, Epitheliochorial 1. Dag
B. Syndesmachoriald 2¢ Flatypus
C. Endotheliochorial @ 3. Rabbit
D. Homochorial 4. Pig
5. Leer
Code ¢
iy B C D
2 4 1 3
) A B C D
4 3 3 1
fof A B C D
2 % 3 1
{d) A B C o
3 b 1 3
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J. Gould te the evolutionary theory
iz the preposition that

fa)

(b}

e

()

most evolutionary changes are
principally the outcome of
gradual accumulation of small
inherited variations

Mendelian mechanisms cannnt
ke an important element in
directing evolutionary changes

certain  ¢haracters show a
sustained tendency to develap
along an evolutionary line

most  evolutionary  changes
have consisted of rapid
cutbursts of speciation
alternating with long periods
during which the individual
species remained  virtnally
unmaodified
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B0. Which of the following groups of
animals studied by Darwin in his

visit to Galapagos led him to
advance his theory of evolution?

{a/ Flightless birds, glant iguana
lizard and cave-dwelling fishes

fb}  Finches, echidnas and
cave-dwelling newts
fe) Giant Larnd tortoises,

armadillos and opossums

fci}

Finches, glant iguana lizard
and gant land tortoises

Bl, Why are frogs and toads usually

absent from oceanic islands?

fa} They are poor swithymersand

cannnt  cross large  water
barriers
fiy There 4s not™ sufficient

availability, ofOfreshwater for
breeding purposes in oceanic
islands

fc} There is scarcity of nsects
which form the major part of

their diet

Saltwater acta a3 8 barrier and
they are quickly killed by
saltwater

{d
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B2. Consider the following statemetits :

1. The WNeanderthal man was
thicl-set, museular, relatively
short with a large mose and
strong jaws.

2. The Neanderthal man
inhabited sub-SaharanAfrica
about 50000 years ago.

Which of the statements given
above izfare correctry

fex)
fly 2 only

1 anly

fc} Bath d and 2

fdf Meither 1 nor 2

83 NWiaich List-] with List-II and select

v ou >

the correct answer using the code
given below the Lists

List-T List-IT
fInzect pest] (Cropl
Papitio demoleus 1. Cotton
Dysdercus koenigil 2. Cocorut
QOryctes rhineceros 3. Citrus
FPhenacoocus hirsutus 4. Coffee

5. Jute

Code
faf A B C D

4 3 5 2
fbi A B C D

3 i 2 5
fol A B < D

3 1 5 2
) A B < D

4 3 2 5
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84. Paddy crop is damaged by which one
of the following insects?

fal Leptocorisa varncornis
fbt  Dysdercus cingulatus
fo] Bruchus chinensis

fd]  Siophilus oryzas

85. Which one of the following pairs is
not correctly matched?

fa}  Aedes qegypti 1 Yellow
fever

(b} Clossina palpali= : Sleeping

sickmess
fc] Xenopsylla
cheopis . Plague
{d} Phlebotomus
papatast - Hay fever

86. Which one of the following causes
severe damage to bee-keeping
industiy?

{eehy, Galleria
(Bl Lepisma
fot  Liposcellis

felf  Moriomarinum

P-DTQ-J-APP/3A
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87. The honey contains maximum

percentage of following sugars
f  Sucrose and fructose

(b} Trehalose and mannose
fc} Levulose and dextrose

fd} Maltose and glucose

88. A person observing prolonged fast

will excrete which one of the
following in urine?

faj Fai
{hi Aming acids
fe). Albumin

fd) HKetone bodies

89. With reference to poisonous snakes,

consider the following statements !

1. Usually a pair of maxillary
teeth is madified into fangs,

2. Becales on the head are
enlarged to form large shields.

3. The parotid (labial) glands are
modified inte peison glands.

Which of the statements given
above are correct?

fa) 1 and 2 only
fb) 1 and 3 only
fcf 2 and 3 only

(@ 1,2 and 3
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91. Hypersegretion

90. Consider the following statements :

In citric acid cyele

1. three hydride ions [hence, six
electronsl are wansferred to
three NAD* rolecules

2, one pair of hydrogen atoms

{hernce, two  electrons] is
transferred to eone NADP®
molecule

3. one pair of hydrogen atomns

{hence, two electrong] is
transferted to  one FAD
molecule

4. one NADH molecule is utilized
in the process

Which of the statements given
above are correct?

fat 1 and 2

fb] 1 and 3

fe} 1 and 4

[dl 2 and 4
of  glueoeorbicaids

especially “gortisol and cortisone
CAWEES

Addison’s disease

fe}
&}

Adrencgenital syndrome

e}

Cushing’s syndrome

Testicular feminization

fd}

P-DTQ-J-APPF3A
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92. HKidney i3 involved in the synthesis of

fa) calbindin for calcium
ab=orption

fb}  calcitrol for caleinm
homeostasis

fe} cholecalciferal for bone
formation

fel calcitonin  for phospharus
metaboliam

93. Match List=I with List-li and select

A.

B.

the correct answet using the code
givenn below the Lists :

List1 List-IT
(Hormahe) (Neature
Estradial 1. Amino acid
detived
Thyroid 2. Protein
stimulating
hormone
CGlucagon 3. Glycoprotein
Epinephrine 4. Cholesterol
Code :
fa) A B o |8
1 2 3 4
(B} A B C D
1 3 2 4
fci A B o L3
4 2 3 1
fd} A B C D
4 3 2 1

94, An end of a double-gspranded DMA

molecule where there iz a single-
stranded extension is called

{fa} Blunt end

() Gtageered cui

fry  Btem-loop structure
{df Sticky end
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{b}

fc)
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FEAN % AToE & w0 g 27

fetj

fb}

fe}

faj

UEig T
TR dorem
Fiim waam

T [T HFT
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95. By working on which one of the
following did Beadle and Tatum
put forward one gene-one enzyme
hypothesis?

fal Drosophila melanogaster
fb} Escherichia col
fcj Neurospora crassa

fd) Saccharomyces cerevisine

26. Consider the following pairs

Industry Pollttant
released

Petroieumn Hydrogen

refinery sulphide

Paints and Nitrobenzene

pigments and aniline

Tanneries Chlorine and
lead

Which of the above pairsfisfare
correcily matched?

fa} 1 and 2 only
{b} 2 and 3 only
fey 1 only

(d) 1,2 and 3

97. Among the following zooplanktons,

which one is not a rotifer?
fa), Brachionusz
fb] Asplanchna
fo) Stenocypris

fd} Lecane

P-DT{-J-APP/3A

98, Which one among the following is the

largest wetland?
fa] Pulicat Lake
(Bi Kaliveli Tank
fej Chilika Lake
fd) Vedanthangal

99, . Progject Musk Deer’ was launched in

1974 in

fal Dachigam Matienal Park
fb} Kedarnath Nafional Park
fej  Corkett National Park
(d} Pin#alley National Park

100. The Gangetic dolphmn belongs to the

Eernus
fa] Platanista
fb) Pelphinus
{c| Balaenoptera
{d) Phocaena

101. Consider the following statements :

1. The Pygmy Hog (Sus
sabranius], the smallest wild
pig, iz an inhabitant of Eastern
Himalayan foothills.

2. The Mouse Deer |[(Traguius
memunng, a tiny raminant,
inhabits the forested areas of
Southern India.

Which of the statements given
above is/are correct?

fa} 1 only

bt 2 only

fe} Both 1 and 2
{d] Neither I nor 2
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102. The ancesiral

Eocene period shows which ane of
the following adaptations in limbs

horse Eohippus of

for speed?
fa} 4 digits in forelimbs and
3 digitz in hind limbs
fb} 3 digits in forelimbs and
4 digits in hind limbs
fe) 4 digits in  lorelimbs  and
4 digits in hind limbs
{d) 3 digits in forelimbs and
3 digits in hind limbs
103. The Eravikulamm National Patk is

famous for its

fa) Gaur

firl  Lion-tailed Macague
fe} Nilgiri Tahr

{d} Great Indian Bustard

104. Accessory respiratory organs jare

found in fishes living in
fa] marine water

{h) cave water

c)
fel]

snow-fed rivers

tropicab freshwater

105. Which one of the following is not a
fossonal adaptation?

fa) T-shaped episternum

i)  Fusion of cervical, sacral and
iumbar vertehrae

fe]  Keeled sternum

{d) Highly developed tactile sense

P-DTQ-J-APP/3A
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106. To facilitate the aquatic respiration,
tracheal gilts are found in which of
the following?

fa} Fishes
fi} Turtles
fo)  Mollusks
{d} Insects

107. Which one of the following is a
secondary agquatc amnmal?

fa} Zygaend
{b) Dugang
fe)  Selen
{d} | Exocoetus
108, Which one of the following Is
the most  productive aquatic
ecosystem?
fa] Coral reef ecosystem
fb) Estuarine ecosystem
fc) HRiverine ecosystem
{d}) Pond ecosyziem
109, Consider the following marine
arganismes :

1. Ammodytes

2. Calanus

3. Clupea

4, Chaetoceres

Which one of the following is the
correct sequence of the food cham

formed by  these  organisms
beginning with the producer?

o) 2-4-1-3
{b) 4-3-3-1
fe) 4-2-1-3
dj 1-4-3-2
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fa) A

b} FH

fc) TR

fd) *
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fe) 2—4-1-3

fbj 4-2-3-1

fc) 4-2-1-3

fd} 1-4-3-2
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110, A genectically different population of a 114. The sting of honeyber is 2 modified
species colonizing different habitats organ of which of the following?
15 known as

fa) Mandibles
{z] Ecophene
) Becotyp fb} Labellumn
o [+

fet  Ovipositor
fe}  Ecological egquivalent

" fd)  Proboscis
fd) Ecad

115. Which one of the following kinds of
substances contribute) significantly
in inereaming _the  phosphate

111. Which one of the following is found
inn Eastern Himaleyan sub-region?

{fa] Brown Goral conceniration, during eutrophica-
tion?

{p}/ Markhor
{a] ‘Détergents

fc; Ibex

fht  Disinfectants
fef] Tahr

{e) Organochlorines
112. In warm-humid chmate wmany

mammeals, birda and insects are (d] Synthetic polymers
darkly  celpured than  their
counterparts  living in coolsdry 116. Consider the following charac-
climate. This iz an example af teristics regarding snakes :
fa) Jordan’s rule 1. 3rd supra-labijal zcale tuuchf,js
the eyve as well az the narig
(b} Gloger's rule bearing scale
2. Presence of special spots on
a
{c] Bergmann’s miile the beily
{d} Allen's rule 3. Presence of pit between eve
and naris

113. [ndian wild gs= comes under which

Séhedlle of Indian  Wildlife Which of the above isfare true in

(Protection) Act, 19727 the case of coral snalces?
() 1 fz} 1 and 2 only

@ I b} 2 only

fcj I fel 1 and 3 only

@ W @ 1,2 and 3
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117. Match List-I with List-Il and select
the correct answer using the code
given below the Lists ;

List-T
{Name of the
pesticide)

A Lead arsenate
B. Carbofuron
C. Pyrethram
D. Naphthalene
Code :
fal & B
4 1
fb) A E
4 P
fc} A B
3 1
fdi A B
3 2

118, Consider the following species of

Prawn o

List-IT

(Mode of action)

1
2

= % ]

Ll B

Contact poison
Systemic
POISOn
Furnigant
Stomach
poison

g W g

s &0

1. Penceus indicus

FPenoneus monodon

2
3. Parapenaeopsis stylifera
4

Macrobrachitim rosenbergii

Which of the above isfare cultured

in freshwater?
{a} 1 and 2
i 3 only

fc) 4 only

() 3 and 4

P-DTO-J-APPf3A

119, Methernoglobinemsia is caused due to
the presence of in excess of which
of the following in drinking water?

@ Tron

{b] HNitrate

{c) Phosphate

{d] Copper

120. Match bist=l with List-1I and =elect
the correct answer using the code
givery, below the Lists

_ ListT
{Rurmnant's
stomach)

A. Abomasum

B. Omasum
. Reticulum

D. Rumesn

Code

fat A
2

(b)- A
1

fe} A

fd) A

44

!

3

[

List-II
{Structure)

Gasiric glands
Longitudinal leal-
like folds

Short finger-like
villi

Ridges
C

3 1
C D
2 3
C

4 1
C D
3 3
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